
MATE 4145assignment2

1.(a-c) §3.1:not to handin: ex3–6.Handin exercises11,12,13.Usethepropertydiscussed
in thepostedlesson3-1:if ej is thejth basisvector,thenAej = . . .

2. Computerexercise18.

3.(a,b) Handexercises:chooseoneof 1–3,andexercise12of §3.2.

4.(a,b) 13,14of §3.2.

5.(a-c) §3.2.Computerexercise:exercise6,andtwoothersof 4–9,replicatingthestepsshown
in lesson3-2 (postedvideo).Draw a circle not centeredat theorigin in blue,andthe
curvesresultingfrom the3 transformationsyou choosein a differentcoloureach,all
on thesameplot.Presentthediaryfile.

Not to handin, butaspracticefor labquiz:selectsomeof exercises21–45of §3.2.As
above,usecircle insteadof dog.

6-7. Choosetwo of 6–9of §3.3,oneillustratingeachcase.If thetransformationis linear,
youmustprovideproof;if it isnot,youmustprovideaconcreteexample,asdiscussed
in lesson3-3.

8.(a-c) 5,11,13of §3.3.

9–11. §3.4:exercises1,2,3.


